

Pokr. 2) $y' = -c_1 \sin x + c_2 \cos x - \left(\frac{2}{3} \sin^3 x \cos x\right)' - \left(\frac{2}{3} \cos^3 x \sin x\right)'$

$$y' = -c_1 \sin x + c_2 \cos x - \frac{2}{3} \left((\sin^3 x)' \cos x + \sin^3 x (-\sin x) \right) - \frac{2}{3} \left((\cos^3 x)' \sin x + \cos^3 x \cos x \right) =$$

$$= -c_1 \sin x + c_2 \cos x - \frac{2}{3} (3 \sin^2 x \cos x - \sin^4 x) - \frac{2}{3} (3 \cos^2 x (-\sin^2 x) + \cos^4 x) =$$

$$= -c_1 \sin x + c_2 \cos x - 2 \sin^2 x \cos x - \frac{2}{3} \sin^4 x + 2 \cos^2 x \sin^2 x - \frac{2}{3} \cos^4 x =$$

$$= -c_1 \sin x + c_2 \cos x - \frac{2}{3} (\sin^4 x + \cos^4 x)$$

$$1 = -c_2 - \frac{2}{3}$$

$$c_2 = -\frac{5}{3}$$

$$y = -\cos x - \frac{5}{3} \sin x - \frac{2}{3} \sin^3 x \cos x - \frac{2}{3} \cos^3 x \sin x$$

3) $y'' + y' + y = 0$

$$\lambda^3 + \lambda^2 + \lambda + 1 = 0$$

$$\lambda^2(\lambda+1) + (\lambda+1) = 0$$

$$(\lambda+1)(\lambda^2+1) = 0$$

$$\lambda_1 = -1$$

$$\lambda_{2,3} = \pm i$$

$$y_1 = e^{-x}$$

$$y_{2,3} = e^{\pm ix}$$

$$y_2 = \cos x$$

$$y_3 = \sin x$$

$$y = c_1 e^{-x} + c_2 \cos x + c_3 \sin x \quad c_1, c_2, c_3 \in \mathbb{R}$$

4a) $y_1' = y_1 + y_2 + 1 + e^x$

$$y_2' = 3y_1 + y_2$$

$$A = \begin{bmatrix} 1 & 1 \\ 3 & -1 \end{bmatrix}$$

$$(1-\lambda)(-1-\lambda) - 3 = 0$$

$$-1 - \lambda + \lambda + \lambda^2 - 3 = 0$$

$$\lambda^2 = 4$$

$$\lambda_{1,2} = \pm 2$$

$$\lambda_1 = 2 \quad \begin{bmatrix} -1 & 1 \\ 3 & -3 \end{bmatrix} \sim \begin{bmatrix} -1 & 1 \\ 0 & 0 \end{bmatrix}$$

$$-x_1 + x_2 = 0$$

$$x_1 = 1$$

$$x_2 = 1$$

$$u_1 = \begin{bmatrix} 1 \\ 1 \end{bmatrix}$$

$$\lambda_2 = 2 \quad \begin{bmatrix} 3 & 1 \\ 3 & 1 \end{bmatrix} \sim \begin{bmatrix} 3 & 1 \\ 0 & 0 \end{bmatrix}$$

$$3x_1 + x_2 = 0$$

$$x_1 = 1$$

$$x_2 = -3$$

$$u_2 = \begin{bmatrix} 1 \\ -3 \end{bmatrix}$$

$$y_1 = e^{2x} \begin{bmatrix} 1 \\ 1 \end{bmatrix} = \begin{bmatrix} e^{2x} \\ e^{2x} \end{bmatrix} \quad y_2 = e^{-2x} \begin{bmatrix} 1 \\ -3 \end{bmatrix} = \begin{bmatrix} e^{-2x} \\ -3e^{-2x} \end{bmatrix}$$

$$y_H = c_1 \begin{bmatrix} e^{2x} \\ e^{2x} \end{bmatrix} + c_2 \begin{bmatrix} e^{-2x} \\ -3e^{-2x} \end{bmatrix}$$

$$y_P = C_1(x) \begin{bmatrix} e^{2x} \\ e^{2x} \end{bmatrix} + C_2(x) \begin{bmatrix} e^{-2x} \\ -3e^{-2x} \end{bmatrix}$$

$$C_1'(x) e^{2x} + C_2'(x) e^{-2x} = 1 + e^x$$

$$C_1'(x) e^{2x} + C_2'(x) (-3e^{-2x}) = 0$$

$$4C_2'(x) e^{-2x} = 1 + e^x$$

$$4C_2'(x) = e^{2x} + e^{3x}$$

$$C_2'(x) = \frac{e^{2x} + e^{3x}}{4}$$

$$C_1'(x) e^{2x} + \frac{1}{4}(e^{2x} + e^{3x}) e^{-2x} = 1 + e^x$$

$$C_1'(x) e^{2x} + \frac{1}{4} e^x = 1 + e^x$$

$$C_1'(x) e^{2x} = 1 + e^x - \frac{1}{4} e^x$$

$$C_1'(x) = e^{-2x} + \frac{3}{4} e^{-x}$$

$$C_2(x) = \int \frac{1}{4}(e^{2x} + e^{3x}) dx = \frac{1}{4} \left(\int e^{2x} dx + \int e^{3x} dx \right) = \left| \frac{x=2x}{dx=2dx} \right| = \frac{1}{4} \left(\int e^u \frac{1}{2} du + \int e^u \frac{1}{3} du \right) =$$

$$= \frac{1}{4} \cdot \left(\frac{1}{2} e^{2x} + \frac{1}{3} e^{3x} \right) = \frac{1}{8} e^{2x} + \frac{1}{12} e^{3x}$$

$$C_1(x) = \int e^{-2x} + \frac{3}{4} e^{-x} dx = \int e^u \cdot \frac{1}{2} du + \frac{3}{4} \int e^u \cdot (-1) du = -\frac{1}{2} e^{-2x} - \frac{3}{4} e^{-x}$$

$$y_P = \left(-\frac{1}{2} e^{-2x} - \frac{3}{4} e^{-x} \right) \begin{bmatrix} e^{2x} \\ e^{2x} \end{bmatrix} + \left(\frac{1}{8} e^{2x} + \frac{1}{12} e^{3x} \right) \begin{bmatrix} e^{-2x} \\ -3e^{-2x} \end{bmatrix} = \begin{bmatrix} -\frac{1}{2} - \frac{3}{4} e^x \\ -\frac{1}{2} - \frac{3}{4} e^x \end{bmatrix} + \begin{bmatrix} \frac{1}{8} + \frac{1}{12} e^x \\ -\frac{3}{8} - \frac{1}{4} e^x \end{bmatrix} =$$

$$= \begin{bmatrix} -\frac{3}{8} - \frac{2}{3} e^x \\ -\frac{2}{8} - e^x \end{bmatrix}$$

$$y = y_H + y_P = c_1 \begin{bmatrix} e^{2x} \\ e^{2x} \end{bmatrix} + c_2 \begin{bmatrix} e^{-2x} \\ -3e^{-2x} \end{bmatrix} + \begin{bmatrix} -\frac{3}{8} - \frac{2}{3} e^x \\ -\frac{2}{8} - e^x \end{bmatrix} \quad c_1, c_2 \in \mathbb{R}$$